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Answer the Questions from any one Option.

| OPTION-E
 (Fundamentals of Financial Management)

Paper : COM-RE-5056

OPTION-F
(Indirect Tax Laws)
Paper : COM-RE-5066

Full Marks : 80

Time : Three hours

The figures in the margin indicate
full marks. for the questions.

Answer either in English or in Assamese.
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OPTION-E

( Fundamentals of Financial Management)

A.

(@)

(b)

Paper : COM-RE-5056

Answer the following as directed :
1x10=10
RO wore PR e =1

Key financial functions of a firm does
not include. '

AP bR Wz REw IMRER Sego

() investment decision (R ﬁ‘ﬁ]‘@)

(i) dividend decision (&Nt fRfereel
)

(iii) buying decision (F¥ F@I®)

(iv) financing decision (R€w Fras)
Capital budgeting is a part of

T ACTH 6 N B

(i) investment decision (RIS Fraiw)

(i) working capital management

(PIEFS Jo4 A1)

4 (Sem- 5/CBCS) COM RE 5/RE 6/G 2

(c)

(iii) capital structurc (3 sfterfer)

(iv) dividend decision (A9jI fafermasi
frale)

Optimum capital structur:

the debt equity mix where

oy e e 3fF w0 A I %
fRe oKl W TO
(i) debt is higher than equity

o], TN TEF T

¢ refers to

" (@) equity is higher than debt

(@

4 (Sem-5/CBCS) COM RE 5/RE 6/G 3

o YOl LS T

(i) the firm’s cost of capital is
minimum and value of the firm is
maximum.
ofovie e I R W A
AfSPe 0 T

(iv) All of the above
@/ HBIRER

Under Net Present Value method, a
project.is accepted when present value
(PV) of outflow is. present value
(PV) of inflows.

Contd.



T TR T (Net present value) afes
<Y o A7 IR 3 (SIS AW 417 ARoiumg
TEAW ey AW 44 TR IOV @i
.

() more than (@b )

(ii) less than (¥ )

(iii) equal to (VW Z)

(iv) None of the above (89T qbig TX)

(e) Current assets are twice the curr
. o ent
liabilities. If the working capital is

Rs. 20,000, current assets would be -

5T 71 Sfore ore 12 @l 27 | TR PR

T 20,000 591 TF, (90 St W
SR 2 ,

() Rs. 10,000 (10,000 Ba)
(i) Rs. 20,000 (20,000 5=ty
(i) Rs. 40,000 (40,000 5)

(i) Rs. 80,000 (80,000 G5l)

4 (Sem-5/CBCS) COM RE 5/RE 6/G 4

B. Write whether the following, gstatements

are Tue or False :

wers fa Rgferam o @ WS el @
pay dividend in the

(@ When the company
s called property

form of bond, it i
dividend.

iR e @@ e A fuca
cofont oI T e (!

(b) Receivables are. liabilities.
afefTR. (R (Al

(c When profitability index
the proposal for investmen

| oo TR e @ G R W, cofea
G eFRA 8> A |

the degree of financial
ater is the financial risk.

exceeds one,
t is accepted.

(d) The higher
leverage, the gre

ﬁ@ﬂﬁ{@@ww?ﬂ'@ﬁﬁm@fW@ﬁ@?
Rompics Bree @ A |

(e) . Investment decision is not related to
working capital management decision.

ﬁﬁmﬁﬁmmﬁﬁmqﬁwm
wor® Giee T=A |

4 (Sem-5/CBCS) COM RE S/RE 6/ 5 Contd.



S
- Answer the following questions in about 50

words each : . .
50 1 R fowTs 2x5=10 (b) How is cost of retained earnings
( oo RIS Aferh! o T fy) o ascertained ?
a) W : . =it o )
) What ig equity share ? el o A (A fdfad <l
T2 Wl e =
(b) What is financial decision ? (¢ What are the limitations of Capital
i Frars fe budgeting ?
(e) Write fwo o A &R
characteristi bgl FIRFOITIR ?
levetige. acteristics of financial . . .
fen (d) Describe the various types of dividend
(d) ¥ FretcS b g o policy.
What i _
stn?ctu:sp meant balanced capital fon oA ST s <t
(S . .
IE{CAiG! o (¢) Mention five determinants of working
(e) Define - % gorms ] capital.
cash man ) . : .
W SRR ;g;ment, PR TS e oo BrEd T
]
3. Answer a ) ! () Based on the following information
in ny four questions of _ al . and
about 150 words of the following calculate Operating Leverage @&
T ﬁzwm Wmeaeh 5x4=20 Financial Leverage : 2+2+1=5
foote ot 1 ¢ SCOIPT 2 15061 %7 , WWGWW@WW
(@) What are the e Rew Fros fded 31 8 '
import
management ? ROEAEES @l financial Sales (&%) ¢ 20,000 units ((s1iB)
e : :
A ARGIETT sTeTE & R Selling price (R&F ) ¢ Rs. 200 per
*Sem-5/CBCS) COM RE 5/RE 66 6 unit (&S (5%)
7 Contd.
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Variable cost (A& 3m) ¢ Rs. 140
per unit (& (a%)

Total fixed cost (?3 R am) ¢
Rs. 6,00,000

Debt (39) ¢ Rs. 40,00,000 at 10%

rate of interest (10% o3 QF©
Rs. 40,00,000)

If the business firm wants to double

its operating profit, sales has to be
increased by what percentage ?

T T Ao A wwe g god
TR Ronw, R R ot g R

?

Answer any four of the following questions
in about 600 words each - 10x4=40

wﬁmmmﬁfrmammuooﬁm
g fooe Tag 9] ¢ :

(@) Explain the scope of financial
management. What role should the

-financial manager play in the modern
business ? '

Rl sRoeme sifem i =) gl

T2

4 (Sem-5/CBCS) COM RE S/RE 6/G 8

( -

5 -apital.
approach about cost of cap

e PGS Modigliani-Mi
gl v el F

ed and importance of

ller 4

(c) Examine the ne
: ting.
capital budge
1ol
e A 6 S S o

1 7
.« Accounting Rate of Return:
(d)‘ e 'ls the advantages and
| FT‘XF_)lanjl of Accounting Rate of
limitations ‘ e
urn.

l;:%@mmﬁs?ﬁmvﬁﬂ@vmﬁm

AR o fwge I F

e) Ila't 1S l acl l ls:uss dls
(

' +8=10
dividend policy of a company. 2

o ot GoTI) abr e A A
\©)IN . ‘
i

cOﬂtd-

5 9
4 (Sem-5(CBCS) COM RE 5[RE 6/6



N

R > e 1
(7 Examine the importance and sco
accounts receivabl Do [of
€s manage
ment,

Mo Ry SRBITR o
SRS 34 | T Mo

(g) ;Vhat iIs working capital? (
ormati .
Consiit;on .of a new business t
consid rations are taken into enat
o italmatm.g the amount f ocount

P required ? o horking
2+8=10

WWW%?
RS

WWG ﬁ/
R SR

(h) FrOm
th o
calculate ethmfol'mation give
two ) € Net Prese n below,
projects : nt Value of the
Project A Project B
. (TA’ (&5 B)
niti s.) .
al Investment 1.60 O)OO' (Rs.)
) > 1)607000

(Estimated Life 4 year
T SRmaie S - 4 year
. ) (W) . S
ap value (W)

(ot I57) ' e _

h flows to be gcncrutcd by projects are

Cas
as follows -
o8] YoI2 B&7HH affagEeal wo Az frafafas
49 o
Year 1  Year 2 Year 3 Year 4
(e ) (R =) @) %)
Project A 50,000 80,000 40,000 - 20,000
(235 A)
Project B 80,000 60,000 40,000 10,000
(@¥% B) _
Assume a discount rate of 10%
(R G 3T W 10%)

hich project should be
d justiﬁcation. 4+4+2=10

1 TS

" Also suggest W
accepted with vali

amtaawwﬁimmmm
siqref ot | :

Contd.

4 (Sem-5CBCS) COM RE 5/RE 6/C 11



o T

OPTION-F
(Indirect Tax Laws)

Paper : COM-RE-5066

(a} State “Yheth
er the sta
or false : tements are

CEh 8% (7 WoTm SR 39 3

(i) India is the first coun
introduce Dual GST. = ©
(7S GST Wi WREH NI e
JREH IV © ¥ =
AN (7= | e
(@) Assam VAT ‘Act, 2003 came j
effect from 1st Day of May Zolgto
ZOOSWWWW";@WS'
VAT 12, 2003 atrey tafee |
(@) Prohibited goods can be export -
(. A= TIRR s Rk siR 5
w) GST is a destination based
GST 24 3 Tofefes o9 -

(U) EXCiSe
duty is levi
vied on th
e

manufactur .
India. e of excisable goods in

true
Ix5<5

RS0 SIS @
\{]
RS SRR w5 iz <y 7@7 g

4 (Sem-3
(Sem 5/CBCS) CoM Rp S/RE 6/G
12

priate

the blank with appro

i (b) Fill in
! word/words : 1255
| Borqe WA AR o 44 T8

different

(). MRP based duty is levied on
of alcohol.

R Rfeq 1 .es@s MRP fefes ¥4

iEie ¥ AN
(i) VAT is a type€ of tax.
VAT T4 _ 9 ot IR
(i) GST is the sum total of

SGST/UGST.
. GST T4 <% SGST/UGSTR (i

and

ivy) A — is filed on or before the arrival
of the imported goods. '
IS R A T A O oS G
 wRE ™
(v) The full form of CGST is

CGSTI 7o) A T |

9. Answer the following questions : 2x5=10

(@) What is ‘Reverse Charge Mechanism’
° under GST? :
GSTA SRS STl SRS iR W &2

4 (Sem-5/CBCS) COM RE 5/RE 6/G 13 Contd.



NS

Qrate two features of Value Addeq
¢d Tayv
T REIEe IT GRS N
v B '

) What is the meaning of the
Protective Duty’? term
SRFES ol w2

(@) State the definition of the term Fa
under the Central Excise Act 19C4tzry’
T SRR SiEA, 19449 ST ‘W‘Nm

xeroR el |

(e) Mention two benefits of GS
consumers. T o

@mﬁa GSTR 71 R S |
3. zinswer any four questions :
Frezat BifaoT eae Ges [Tl 8

(a) Explain in bri ifer
ef the diff
custom duties. SRE EES ot :

5)(4:20

Rfen 4R TN §FI GF 5 IR ARCGRY |

(b)) What are th es of V
e ty
‘ p f Value Added

T e 3 GPRER fF 2
(c) Explain the basis of lévy of Excise Duty
SR @ IR oG e F1| |

4 (Sem-3/CBCS) COM RE 5/RE 6/G 14

(d) write a briel note on GST Council
GST Afa esae «fb 5y b
(e) Mention the features of GST

GSTA (aepnE Srere 41|

() Explain the term ‘Business’ under GST.

GSTY SRS QA B! T 74l |

Answer any four questions : 10%x4=40

ﬁwﬂwﬁﬁm@mﬁm

(a) Explain the custom proce
import of goods.
wmﬂmﬁ?m@%mﬁ’ % gt

s and

dure for

etail note on ‘Good
Network’ (GSTN).
(GSTNJ &°%® o

(b) Write 2 d
gervices Tax
‘ol T ol I
fge O feral |

(c) Mention the different types of indirect
i levied DY the Central

Government and State Governments
i f GST.

GST
. mwmﬁw@mﬁﬂﬁm
me@@@ﬂ hall

15 Contd.
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(d) Mention the provisions of compulsory
registration under the GST law in Indig

SRER - GST WX IO TSl
AGRR TRERE O 9| |

(e) Describe the proceduré of registration
- under the Central Exmse Act.

@@NWWWW"IWW
9 ]

(f) Briefly explain the various types of audit
under the GST Law in India.

'@WGSTWW@T%W&W
AR SIS IR 44|

(9) Explain the provisions of the Customs
Act, 1962 regarding grant of exemption
from custom duty.

o =] 2[1 (@RI T TS AN o
Wz, 19623 I7TR[@ | I [ |

(h) Explain the terms ‘Manufacture’ and

‘Place of Removal’ under the Central
Excise Act.

R URSE] WL GENe TeANT ST
AR B 2 YOl G 4 |
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Total number of printed pages-11
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2023
COMMERCE

(Honours Elective )
Paper : COM-HE-5046
(Banking )

Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. (A) Choose the most appropriate answer
to the following questions : 1x5=5

weTe W31l RIS Bole Beare i Sfeeat ¢

(a) In which year Regional Rural Bank
Act was passed ?

@ e Nl AN @5F Wz AR
| &1

() 1934 / S>e8

Contd.



(®)

(c)

(i) 1955/ s»ee
(i) 1969 / S>3
(iv) 1976 / 33QY
Who issues the Garnishee Order ?

IRAR o (@I SR FEe

() Court
NGRS

(i) RBI
@ @

(i) The Central Government
FH HIFIE

(iv) Concerned State Government
FET T HIFIAE

Which of the following is not a
liquid asset?

e @R[y o3 Tom 9232
(i) Cash /7MW &

\(ii) Money at call / T 4

(i) Bond /39
(iv) Share / S¥9d

4 (Sem-5/CBCS) COM HE4 (BNK)/G 2

‘ (d) Which of the following is a party
| to a Bill of Exchange ?

oo SRS @R o R [
TS TS ?

(i) Drawer / e oo
(i) Drawee / e ol
. (iii) Payee [ A

(iv) All of the above
@9 THIRIFZO!

; (e) The Provisions of the Banking
f Regulation Act, 1949 are not
applicable in case of—

@R e Wi, $5853F LRFTR
@R @R CFIS ATIS A ?

() SBI
TN (B [T

(i) Nationalised Banks
AFTS T

(iii) Private Sector Banks
IfETe 167 @

(iv) None of the above
@9 I8 WA

4 (Sem-5/CBCS) COM HE4 (BNK)/G 3 Contd.



B) State whether the following statemen
S
1 x5=5

{

are true or false :

oo IER OF (7 G870 8

(@) The issuing bank grants loan for
every Transaction settled through

credit card.

R RIS WRE R 3
A

(b) The Integrated Ombudsman

Scheme was in
troduced in th
2021. € year

IS (@ D
0D BAY H{T
= |

(c) A marri
: arr'led woman is considered as
special type of bank customer

YR RaIfZe 7w Ry
TR &2
s Rpitst Rz a4t 27 S

4 (Sem-
(Sem-5/CBCS) CoM HE4 (BNK)/G 4

Crossing of cheque is an examplc

of matcrial alteration.
53 (@I I NGREERE
s b S|

(e) There arc three parties in a

promissory note.

awaﬁuﬁsmﬁsﬁﬁﬂwmu

questions: .

e brief answer t0 the following
2x5=10

Giv

wﬁmmﬂwﬁm

(a) Define ‘Bank’.
‘@aa w@l Tl

(b) Write the meaning of the term ‘Bank

Customer’.
‘@R AF I we ol

What is meant by the term ‘Liquidity of

Assets’?

g ST T [ TE

(c)

4 (Sem-5/CBCS]YC0M HE 4 (BNK)/G 5 Contd.



(d) Write the meaning of the te
‘ : r
endorsement’ in the context ofm
a

negotiable instrument.

TSI 7o RIS ORI @ fipgy,

(e) Classify the assets of a bank as
the guidelines of RBL e

ReTS @ FoeR SR QS <O
AT (T Rerem 34|

3. i .
Answer the following questions in about 20
words each : fany four) Sx4=9
= 0

w7 i empTg 2B BT j00 T
00 Im
i ¢ (Rt sifao) b

(a) Write a short note on the powers of th,
e

RBI under the Banki
ng Regulati
1949. gulation Act,

298> Hg @(ﬁtwmww
RETS @ ol 391 FAOIRRR eoiqe '
59 1l v o

4 (Sem-5/CBCS| COM HE4 (BNK)/G 6

(b)

(c)

(d)

t are the different methods
r under

Wha
available for fund transfe

E-Banking system ? Explain.

E-Banking I3%9 SRS 4 (AT fafen
ogfera & fe o |

What are the different types of account

facilities available in a commercial
bank ?
o) AT @@W«Wﬁf@««ﬁm«

AR & &

Explain briefly about the different types

of credit facilities provided by a
commercial bank.

R s SiRuprRl RfSR Sore
Ry I

(e) Discuss the basic features of a cheque.

4T Q4R T CARIBITAR S

4 (Sem-5/CBCS) COM HE4 (BNK)/G 7 Contd.



.
<.

Answer the following questions in about ¢
words each : (any four) 00

Explain the structure of com

banks in India.

oreRde MR R MM TR 2wy

10x4=4

weT 7 PRI 2SO TR oo TF X133 ey
&t ¢ (Rezret s1am)

(a) Elaborately discuss about the maj
Jor

(b)

developments in the Indian bankj

: n
sector during the post-Independe X
period. e

FIRATOR #IRE FEABITO TRERS &
< NG
R AT 2R SO | Al

OR | 94!

Do y.ou think that providing bankin
services in electronic mode 'g
advantageous for both the banker anls

customer ? Justify your answer
R Mg (@R G SRR 710

AR % A2 ToAE IF AR
? . W
W‘W@W""W{f@wﬁwﬁ

4 (Sem-5/CBCS) COM HE 4 (BNK)/G 8

(c)

(@)

(e) Differentiate betw

4 (Sem-5

Discuss the obligations of the banker
1stomer in the context of

towards his cu
1e and

(i) Honouring customers’ cheq
f customcrs’

(ii) Maintaining secrecy ©
5+5=10

account.

(i) (5% TR T4 AE (ij) 2z fr
el T IR GRS @54 AT
o 2! WRGER ST 4 |

OR | 944l

t by Crossing of Cheque ?
t the different types

pecimen.
2+8=10

mm@ﬂqﬁ\mﬁ*{ﬁmmﬁﬁﬂ
ool CadiEe FATE g

een ‘Holder’ and

What is mean
Explain briefly abou
of crossing with their s

‘Holder in Due Course’. Also explain
the Holder in

the privileges enjoyed by
4+6=10

Due Course.
e S TURRS (I e 43 ALFIRR
£t 2aRiEe wmﬁﬁWWWn

/CBCS) COM HE4 (BNK)/G 9 Contd.



OR / &3t OR / 59l

lending
(h) Discuss the principles °§:1°§Z:k.
() Discuss the provisions of the Banking - followed by a commerc

e
it 2nle @ fﬂfé 8
Regulation Act, 1949 in regard to— AT cage s 41 32 A

3 A
()  Licensing of banks

(i) Constitution of the Board of

Directors
S5+5=10 - I—

() QR AT oW o

(@) ARFIVGTR A5 ToES

CRRR et wizw, sn8s'© FRRE Rt

ST 3[4 |

(g9) Discuss the procedure Qf opening

savings bank account in ‘ONLINE’ and

‘OFFLINE’ mode. ,

‘ONLINE’ @I% ‘OFFLINE’ AEFRIE Ao

o1 o s 2y Sl
4 (Sem-

S/CBCS) COM HE4 BNK)/G 10

10000
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Total number of printed pages-12
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COMMERCE

(Generic Elective)
Answer the Questions from any one Option.

OPTION-A
Paper : COM-GE- 5016

( Principles of Microeconomics)

OPTION-B
Paper : COM-GE- 5026

( Business Economics)

Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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OPTION-A
B i s directed :
Paper : COM-GE- 5016 (B) Answer the following as directec -

( Principles of Microeconomics) wers i Fofi e ot ¢

(i) Cross clasticity of demand between

1. (A) Answer the following: 1x5=5 petrol and automobile is = k_.
(Rill in the blank)

oo IR Te’ a8 mm@wzo@mmmmﬁmm‘a
ffegeiee | (AT 12 %4 1)

(i) The MC curve intersect AC curve,

(i) Define market equilibrium.

TR SRARTOR e dl| when AC is minimum.
.. . True/False)
() What is production function ? (
. ot a1 2 PSR W, i W @R
M T e e Lo NG T FAT B | (9%/99%)
(i) Define perfect competition (iii) AR curve under perfect
) L competition is elastic.
T2y efbrafer ket fia (Fill in the blank)
(1) What is ec _ e efSrafenEe WIS T =
onomic cost ? | AT ez
SRS a3 W e | (T 31Z 23 )
(v What d (iv) The shape of MR curve in monopoly
0 you mean by product | market is positive/negative.

(Choose the correct option)
| GEHER TG A S LR A
Seettr Reoe 3ffet 7 gone | (wq;/zucn%h
(% RFE! A" 1)

differentiation ? \

4 (Sem-5/CBCS) COM GE 1/2/G¢ 2
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(v) The concept of group equilibrium
is applicable to — monopolistic
competition/ perfect competition/
monopoly market.

(Choose the correct option)

AT SRARTOR IRAT! S W—
iR i /T
aferaifiers/ GIHHI IO |

(9% ReFb! A )
Answer the following in brief : (within 40
words) -2x5=10

weTe friRe 5 Tes ol ¢ (800 X fe0T0)

(@) Distinguish between normal goods and
Giffen goods. o
Wﬁ:n et o e AR e S
|

(b)) Define marginal rate of technical
substitution.

iR efoemme dew Te kel Wl

(¢ Why is firm under perfect competition
a price taper ?
T feraifierEc IaFe afoge 53 7@
AR I I 2

4 (Sem-5/CBCS) COMGE 1/2/G 4

4 (Sem-5/CBCS) COM GE 1/2/G

(d) Define dumping.
wifwica ket it

(e) Write two differences between monopoly
and oligopoly market.

a«mwmwﬁmwm@
sfiefy ferat |

Answer any four from the following :
5x4=20

mﬁm«wﬁmmwﬁmwm:

(@) Write the properties of indifference
curve.

Frrsrs (@R TPRGTR ot

(b) Explain why short-run average cost
(SAC) curve is U-shaped.

ZER o1e 9 (4 R U’ wigfes -, I
Eall

(c) Write a short note on expansion path.
S #9d gviFe 5 Gt ol

(d) Briefly explain different sources of
monopoly power.

TR e Rifon TP oILE IR

5‘ - Contd.



write a short note on prig,
consumption curve.

7 (ol (@R 89S BORA fal
State five features of oligopoly market,

Rl TERT Ao @E

Answer the following questions : 10x4=40

TR PR TeR ol ¢
(@ Explain the different methods of

measuring price elasticity of demand.
Which is the most suitable measure ?
Justify. 7+3=10
bR W Rfoerrer iR Rien s
I FA | (IO (&I ADROT TS ?
TGO (e |

Or /g2t

Discuss the renealed preference theory
of consumer behaviour.

TATOIGIR IR S AZT SGCO! ST
e

4 (Sem-5/CBCS) COM GE 1/2/G 6

(b)

(c)

Discuss the law of returns to scale.
State its limitations. 74+3=10

TR afewE R Sanal #4110 29[
MARGOPTR S 1|

Oor /924l

Explain various economies and
diseconomies of scale that arises in the
firm when it expands its scale of
production.

DI G TeArma T Jfa TR ToT© T
SReRIEertZ 39 |

What are the basic objectives of a firm ?
Discuss how a firm maximises its profit
under perfect competition in the short
run and long run. 2+8=10

G oA DI o1 SraTR 5 2 TR
efrenET TwRe @ e eI
TEIE W IO (MR T D IS Sl
FCE BN 1 |

4 (Sem-5/CBCS) COMGE 1/2/G 7 Contd.



Or/ Qe

What is price discrimination ? Discuss
dli?cmnt degrees of price discrimination.
Briefly explain social desirability of price
discrimination. 1+6+3=10
R RrsiRed e e Reeneer Rfer
SRR AT 1 | 7 R
A AgTer R v I #|

[d) Define monopolistic competition.
Discuss the price-output determination

under monopolistic competition both in
the short run and long run. 2+8=10

<R e e e | e
AT FoRe ZEAN R TR 7
T TR oA e T =

Or/qadt

Wbat is oligopoly market ? Explain the
price-output determination with the help

of Cournot’s model under oligopoly.
2+8=10

THEre o] e @REN OF TRIC
TRl IGRR 7 A AT AR Fidfd
TR0 A

4 (Sem-5/CBCS) COMGE 1/2/G 8

b

Answer the foll
AUV

(@)

(b)

(©

(d)

(e

9

(h)

(i

4 (Sem-'5/CBCS) COMGE 1/2/6

OPTION-B

Paper COM-GE- 5026
(Business Economics)

owing questions: 1x10=10

it opire T fil 8

Define business economics.

<o e e fd |

What is demand function ?

wifER T 2

What is Net National Product (NNP) ?
g 5T Tesr 2

What is Isoquant ?

T et (4

What is selling cost ?

R e

What is demand forecasting ?

SR oo &

Define Marginal Revenue.

e o e

What is disposable income?

Tefrely o 2
What is Interim Budget?

AR A 52

9 Contd.



ro

0

What is Marginal utility ?
it Berifel e

Answer in brief of the following questions :

2x5=10

e fral e by TR frdl ¢

(@ Mention two causes responsible for

(b)

(c)

(@)

(e)

economic problems.

St sTmt ] 7o I fordt |
What is Quasi rent?
el Ao 2

Define Normal Profit.
TR ares ket |

What is Dumping ?

i e & gate

Define Marginal Rate of technical
substitution.

IR aifSrsm A€ g A |

Answer any four of the following questions :

5x4=20

©ote frat Rt s1fbre Tes ¢

(a)

(b)

Explain the scope Business Economics.
P ST o1 1yt <54 |

Find out difference between AR and MR.
T O W% AT W79 Were =Ny o
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(c)

(d)

(e)

What is economics of scale ? Mention
its types.

TR T Testwa frwarfret 2 2AM A2
& f&e

Distinguish between money wages and
real wages.

T TR TR 2 TGRA e A (4|

Discuss different types of production
function.

Beov e RiSR epReRgR Sl 411

Distinguish between accounting cost
and economic cost.

ﬁ&ﬂwﬁﬁvsaMJQma-wmﬁﬂﬁﬁﬁznaaeﬂﬂﬁsﬁ%ﬂn

Answer any four of the following questions :

o frl @ A oifast e e fra o
(@) What is price elasticity of demand ?

Discuss different kinds of price
elasticity of demand with suitable
diagrams. 2+8=10
itnR v ek e oine w oz
R e BRE fas 2R S 41|

(b) Explain the Laws of Returns to Scale.

10
o|fFree afomivr RIE an =11
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(c) What Monopolistic Competition ? lExpl.:,j,,
the price and output dctcrm:qgtlorn
process under monopolistic competition

10

aaifear dferafiense e (52 9 Tare
VA % AW e ! T

(d) What is National Income ? Discuss itg
various methods of computing nationa]
income. Mention two limitations in
computing national income. 2+6+2=](

Trow oy &7 wrew oF o w9 Rfey
A STIZ ST 3 | SIS G IS gy

70! SR Tz 4|

(e) Discuss the modern approach of Cost.

10

TR YA o geo! SNCeval 1|

() Discuss the marginal productivity
theory of “Factor Pricing”. 10
MR 7 e 2R e St ST
|

(9) Explain Innovation theory of Profit. 10
TAIPR TGTY CERAE OG0o! I 4|

(h) Discuss the modern theory of Rent. 10
Gy T OEe! Il 3 |
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2023
COMMERCE

(Honours Core )
Paper : COM-HC-5016
( Principles of Marketing)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Sull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed :
1x10=10

FOTIE NRerRRE 9l it S

() The starting point of any marketing
activity is the

WW‘TW?@WWW

(a) human needs and wants

Y IR dEEA el W SreR
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(i)

(b) basic human needs

TR G erarEAIRel
(c) biological condition of human
beings ‘
TR RS R
(d) All of the above
89IRT DR
(Choose the correct answer)
(% Gasir AR Clersd)

Who is the father of modern
marketing ? '

Which of the following is a threat posed
by marketing environment in India ?

RS (U SR @R AR Ol
T @[ O

(a) .Curtailment of and disinvestments
in Public sector :

v o R F6a o1 e

(b) Liberalisation of
licensing

B S@ieie S

Industrial
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(iv)

(v)
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(c) Survival of the fittest rule
SR BE TR 4

(d) Removal of subsidies
Ry o

(Choose the correct answer)

(o Ge0! AR TG,

Which of the following is useful for

marketing segmentation ?

A e TR Yoo AN oM ?
(a) Prospects identification
TeRTel HAEFd

(b) To know the customer’s tasts and
preferences

1 AT I el S
(c) To target current clients
TEAE ARFE T fdfea 3R

(d) All of the above
@9 BIZAR

(Choose the correct answer)

(7 TG AR 7 Gled)

Which one of the following is not an
element of demographic segmentation ?
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) Family siz€
») Population density

e (@ﬂﬁ‘“)
@ Religion ()

(c) Incon

i) ‘Assam Tea’ stands for ____ positioning,
e 1R — SR |
(Quality/ Geographical area)

e/ (ST (S

ilg: ; ct alternative)
(Rill in the blank with corTé
(7 e 070 ST OR 71 79

(vii] ‘Mobile Handset’ is an example of
perishable goods.
‘(RIEE P aulG AR TR |
(Write True or False)

(51 @ g foral)

(viij) Which one of the following brands
owned and developed by producers ?

EreTe (@I @ BT I
e Ee?

(o) Individual brands (20T [9)
(b) Family brands (& @8)
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()

() Manufacturers brands (&%
(@9T[E)
(d) None of these (4274144 <514 #27)
(Choose the correct answer)
(e Gaard! afy Gfe7)
At maturity stage sales continue to

increase at an increasing rate.

sifisireR srie Rl 3 afde 2 (2 4%
(Write True or False)
(3% @ 9%7 [77)

Promotion mix is an important element

of .

Vo B e 9@ ol B |

(a) Sales promotion (R& T&)

(b) Marketing mix (J&A f9)

(c) Personal selling (Jf&Me Kewae)

(d) All of the above (997 SIHRAR)
(Rll in the blank with appropriate

alternative)

(G [Fomrd 4l I 559 #9)
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